Algebra 1 Day 4 — Multiplying Polynomials Notes

Refresher: | Perform the indicated operation below.
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There are different ways to multiply polynomials...

Method 1| = The Distributive Property
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v Start with the first term in the first binomial. Multiply (distribute) this term times EACH of the

terms in the second binomial. 2 @

v" Now, take the second term in the first binomial (take the sign also). Multiply this term times EACH
of the terms in the second binomial.
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Example3: (x—3)(6x —2)
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‘ - The Tabular Method (the box method)

Example: Use a geometric diagram to find th(x+ (x+3)
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Example 2: Use a geometric diagram to find the product (8x — 2)(6x + 2)
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Example 3: Use a geometric diagram to find the product (2x —4)(3x — 6)
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These methods work for any number of terms (NOT just binomials!) ©
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